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Q1. Write Roman Numbers for the following:

Subject — Mathematics
Worksheet No. 29

a) 58 b) 68 c) 39 d) 96
Q2. Write Hindu Arabic numbers for the following:
a) LXII b) XLVI c) XC d) LXXIII
Q3. Match the Roman numbers to the correct numbers:
COLUMN I COLUMN 11
a. XXX a. 26
b. LXV b. 30
c. XXVI c. 59
d. LIX d.65
Q4. Solve the following:
a) XLI +XI1 + X b) XVIIxV c) LXXX + XL
Q5. Simplify the following by using DMAS:
a) 8+12-6x2 e) 7-4x5+30

b) 90-7x8+8+2
C) 22+2x11+3-40+10+3-5
d) 836 — 665 +165 - 264 = 66

Q6. Solve the following:

a) 22 x15

b) 72x32
9 8

) = + 54
25

9 . 48
d) 7=+ =
e) 7.89 +45.08 + 34.7
f) 452 67.456

g) 56.09 + 123 + 45.089

f) 15+24+3-1x3
g) 80+10x16-8+4
h) 66 -13-14+9

h) Zx8=

)4 15—4 X 3 % X4
D55

K)9=2+72

¢) Subtract 56.78 from 90
m) 567.908 + 34.23 + 67
n) 987.098 - 23

Q7. Convert into higher unit as well as lower unit:

a) 57km45m
b) 13¢25m¢

c) 18m 53 cm
d) 9kg 345¢

d) C — XXVII



Q8. Ranu spent T 748.50 on jeans, T 108.25 on a scarf and I 526.45 on a shirt. How much money did Ranu
spend in all?
Q9. Mary bought 3.5 m of red ribbon and 1.25 m of green ribbon. How much pink ribbon should she buy in
order to have a total length of 5.25 m of ribbon?
Q10. Find area and perimeter of following rectangles with:
a) Length =7 cm, Breadth =5cm b) Length =14 m, Breadth=8m
Q11. Find area and perimeter of following squares with:
a) Side=9m b) Side=11cm
Q12. Atile is 5 cm long and 3cm wide. A rectangular wall needs to be tiled. If length and breadth of wall is 18
m and 20m, how many tiles will be required to tile the wall?
Q13. The length and breadth of a rectangle are 6 m and 5 m respectively. The side of a square is 6 m. Which
has more perimeter and how much?
Q14. What is the cost of tiling a square floor whose side is 16 m at the rate of I 8 per square metre?
Q15. Identify the type of operation that will be used to solve the following word problems:

a) 392600 apples are packed equally in 1208 boxes. How many apples are packed in a box?

b) If there are 60400 boxes. Each box holds 144 eggs. How many eggs are there in all?

c) The sum of two numbers is 41482308. If one number is 3918695 then, find the other number.

d) Mr. Jones deposited 278475 in a bank in his account. Later he withdrew 155755 from his account.
How much money was left in the bank in his account? ...

e) The weight of 826 bags of wheat is 82434 kg 800 g. What is the weight of 1 bag of wheat?

f) A maths book costs ¥136. What is the cost of 6285 such bookS? .........ccccceeeeiriviicccee,

Q16. Find are of following figures by splitting:

7m 30mm
a) 4dm C) 5mm
im 20mm
Im 7mm
8cm 10cm
3cm
b) d) 2em S5cm
10cm

7cm ’

6cm

5cm



